VCE & PDF https://www.passapply.com/asf.html
2024 Latest passapply ASF PDF and VCE dumps Download

PassApply.com

ASFR&AS

Agile Scrum Foundation

Pass EXIN ASF Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/asf.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EXIN
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

ASF Practice Test | ASF Study Guide | ASF Braindumps 1/3


https://www.passapply.com/asf.html
https://www.passapply.com/asf.html
https://www.passapply.com/asf.html

VCE & PDF https://www.passapply.com/asf.html
2024 Latest passapply ASF PDF and VCE dumps Download

PassApply.com

QUESTION 1

A Definition of Done contains a number of characteristics of the potentially releasable Increment. Which of the following
characteristics belong in the Definition of Done?

A. Functional Requirement
B. Length of the Time-Box
C. Organizational Processes
D. Velocity of the Team

Correct Answer: C

QUESTION 2

A 200 member project team is working on a large and complex system with multiple sub-systems. They would like to
start using the Agile Scrum methodology.

As a Scrum Master, what would your best advice be?

A. Scrum is not suited for such a large project. The team should clearly use the Waterfall method or the Crystal Clear
method.

B. Ask all potential members of the project team to have a meeting first and decide if they agree to use Scrum.

C. Agree a logical sub-division of the system so that smaller Scrum teams can work on sub-systems and can add
tangible value.

Correct Answer: C

QUESTION 3

In a Scrum project, a team member notices that not all Scrum processes are followed. Who is responsible for ensuring
that the Scrum Team follows the Scrum processes?

A. The Product Owner
B. The Scrum Master
C. The Development team

Correct Answer: B

QUESTION 4

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
days right at the beginning of the four week Sprint.
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What is the most likely reason that the team did not meet the Sprint objectives?
A. The Product Owner is unable to prioritize.

B. The team is lacking skills.

C. The team did not plan the Sprint effectively.

D. The team is over-worked.

Correct Answer: C

QUESTION 5

A project is so large, that it requires multiple Scrum Teams to work on it. The Scrum Teams will be working in 2 different
locations.

Who would lead the Sprint Planning meetings?

A. One of the Scrum Teams should lead the Sprint Planning meeting.
B. The Scrum Manager should lead the Sprint Planning meeting.

C. Each Scrum Team should lead their own Sprint Planning meeting.

Correct Answer: C
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